—-- =
m (B 118
248 24 1
[ ]
i } L
= _I. skos sciany / =
1285 189 247 465 g
\ 08 , s |e -
394,1 o @@ 3|8 R
. 9 2
! N [ o]
) - o N
% 07 1 ™~ skos $cian 05
| — L
2,415 57 w0
1875 95 17,5 0o ]
1 1
. 3 m’ 3
prog 4 @|e
~ || h=350m 88 -[2,56 33
. @ 3985
[131 100 S
179 . 95 L 122 h ’ . /E/m/ﬂc_
396 prog /
T - h=18cm
Q [sel
o N <
o)
OBA4 11 I 97,5 | 162,5
) h342,5cm §
& 8 ol ‘/r 371 %
= -[2,38 @ 3| % | h=24er @
N
b h=23cy
©
@ -
NG 0 H=21,5cn
IS VANG o
& © 5]
| — -
] X 2355 Q -
P — L 3 =
06 “ 144 235 | 17 3
1|8 A 03 3
| — — — — — —  — - | H
-
_ Jso L=
| L i o
! — SE1 g
H i
// 2,38
407,5 2 o 9 2
Sl b ~| —
ﬁw\a 104 L85 108 I © // 3 A ss] L 1055 77 109 22
. 106 108 36 \ \ N
C ] ] A —T —
- T I
o
24_ b °| erog  H i
h=14cm —
! ol — —
|23 91 N@m—
30 | 30 | 30 | 30 | 30 o
Lo} el 3
e e < o -12,24
1 £ | |o 5] N
! g 2 |8 |§ |8 = 01
I I P R S I |
= = 11 11 11 1l 1l =
| — — — — — N~ % — | ——
m, 27 | 2f 31,5 2
— — I
~ 5}
1 [ 8] p=13en
& h=13cm] &
T ————— 0 . —— =
N
d 13cm
|
131,5 91,5 97,8 88 [ o1 61 116,5 89,5 94 91 113
1288 _

ZESTAWIENIE POMIESZCZEN

Numer [ Nazwa Powierzchnia
01 |PRZEDSIONEK 2,6 m?
02 |POM. TECHNICZNE 2,3 m?
03 |HOL 6,3 m?
03a |[KLATKA SCHODOWA 2,0 m?
04 | SALA EKSPOZYCJI 16,1 m?
05 |KOTLOWNIA 11,0 m?
06 |SALA EKSPOZYCJI 20,0 m?
07 |MAGAZYN 7,5 m?
08 |TOALETA 2,1 m?

POWIERZCHNIA UZYTKOWA 69,9 m?
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OPRACOWANIE




